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SBlI PO/CLERK 2023 500 MOST EXPECTED QUESTIONS

Question 1- When 5 litres dded with some quantity of pure

alcohal then the ratio of alcohaltowaterbecome 3 :2.

Quantity | ;

aixture, when 1.5 litres of pure alcohal are added then

what will be the percentage of alcohal in the new mixture?

Quantity Il ;T

sad of 5 litres of water, If 3.5 litres of water were added and
the quanohal remained the same uId be the

percentage-of pure alcohal in the mixture?
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W= §L D.01>02
E.Q1=0Q2 or relation cant be
established
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Question 2- The length and breadth of a rectangular field is 60
meter and 40 meter. A track of sam@@th Is drawn inside
parallel to its length as well as breadth whose area is 1400
/(,)( J)X’ % meter square. Find the breadth of track.
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X Ut ) T & forreT et 1400 Hiex i g1 3o &1 ieTS

T
AT A.100 m
X\ )\ Hih) B.40 m
C.25m

S~Gom—_ b120m o
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Question 3- A motorboat can travel y km upstream and y + 20 km

downstream urs. If the ratio of the speed of the
motorboat in ater to the speed of stream is 3: 1 and the

difference between their speed is 4 km.
B W= %) Quantity Ihe value of y?
L;) AQuantity Il 7"How much distance the motorboat will travel

o? L1 downstream in 5 hours 1\5 mjl\wutes? . - N
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Question 6- 4, 14, 49,1204,

1029, 6164
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Question 7- A person traye S 20% distancg of the total journey by
yo <Km scooter and 50% of the reme -
12

0 Km Tespective ratio of 5:3 and the remaining distance he covers on
feet. If the sum of the distance WhICh oter and by
C.100 Km Taxi is 252 km, then find the tot

D.26- Km Ty 7- w&rwaﬁnwzo% jﬁ 50%
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Question 8- The taxi charges consist of fixed charges and
additional charges per kilometer. The fixed charges are for
distance of up to 5 km and additional charges are applicablé@

kilometer thereafter. Th a distance O km is Rs.
700 and for 50 km is(Rs. 1600. The charge fgr a distance of 30
km iIs-

ol Yeh H Ui foraieiier [3a Yoo 3R sifafad Yeob M g |
s drt 5 ftt d 1 g3l & AU § 3R 39& a1¢ Ufd fhariex
3ffafed b AN Bl g1 20 fhH & g o T Yewh 700 T 3R
50 foHt o feTT 1600 T B 1 40 Tt Dt g1 & foTU Y[eb 1 87

) A.Rs 1200
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€. Rs 10C
D.Rs 1400
E.None of these
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The bar graph shows the students passed in final year exam in different college.
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g TOS«&”/ C Question 9- Pass percentage of college C is equal to that of
college E. Find total strength@ge E is what percentage

./ /= Ps —~more than th ollege C?
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Question 10- If fail percentage of colle

% then, find
number of students failed from college Bis-witat percentage of

number of students passed from college A?
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Question 11- If ratio between total student who passed to who
failed from all colleges A,B and C is 8 : 3, then find the total
number of failed students from same colleges together’7

@Pa/% WU’H 11- gfe G Sl A, B IR C T REEINGIERCIR
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Question 12- Failed students of college A is 15 more than that of

college C. If ratio between total strengih©of college At llege C is
= X 3:2, then find total number of failed students from bot olleges
/9__ B together. _ . . o .
=X gy 12. Bl A el STl BT Fem Hlas ¢ B ger H 15
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